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1.
SSC (10 + 2) (Tier-I) 

SSC CHSL 

2.
English Grammar 

English Grammar English
Grammar General English Grammar 

3.
SSC (10 + 2) (Tier-I) 

8 10 

SSC (CHSL) 
SSC (CHSL) 

4.



VII

SSC (10 + 2) 
 2019, 2018, 2017, 2015  2014 

SSC CHSL SSC CHSL SSC CHSL SSC CHSL SSC CHSL
2019 2018 2017 2015 2014

1. 2 3 2 4 4

2.
– – – 1 1

3. 1 1 1 1 1

4. 1 1 1 2 3

5. 1 2 2 3 3

6. 1 1 1 2 2

7. 1 1 1 2 2

8. 1 1 2 2

9. 1 1 2 1

10. 2 3 1 4 6

11. 4 3 3 7 6

12. 3 2 3 5 5

13. 3 1 3 3 2

14. 1 1 1 1

15. 4 3 3 8 8

16. 0 1 3 3

25 25 25 50 50





 (digit) : 0, 1,
2, 3, 4, 5, 6, 7, 8 9 

(digit) 
 (Place value) :

63251 
1 = 1
5 = 50
2 = 200
3 = 3000
6 = 60000

 (Place vlaue or digital value) :

61521 
1 = 1
5 = 5
6 = 6

 (Natural numbers) :

'N' 
N = { 1, 2, 3, 4 ................ }

 (Whole numbers) :

'W' 
W = {0, 1, 2, 3, .............. }

 (Integers) :

'I' 
{I = + ..., – 5, – 4, – 3, – 2, – 1, 0, + 1 , + 2, + 3 + ...}

 (Even numbers) : 2 

2, 4, 6, 8, 10, ..............
 (Odd numbers) : 2 

1, 3, 5, 7, 9, 11, ............

1
 (Composite numbers) :

1 

4, 6, 8, 9, 10, 12, 14, 15, .............
 (Prime numbers) : 1 

2, 3, 5, 7, 11, 13, 17, 19, .............

 (Rational numbers) :
p
q

p q 
q  0

3 7 1, ,
5 9 5

 (Irrational numbers) :
p
q

p q 
p  0

2, 5,a e

(i) 2 0 
2 

240, 1762, 18512 
(ii) 3 

2 
123, 1641

(iii) 4 4 
4 

1420, 1828, 1932 
(iv) 5 0 5

5 
10,000, 15625, 62515 

(v) 6 2 3 
6 

216, 7776 
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(vi) 7 
0 7

7 

7 0
343 = 3

 34 
(34 – 3 × 2 ) = 28
 28, 7 343, 7  

(vii) 8 8 
8 

512, 32768,4096 
(viii) 9 9 

9 
729, 6561, 59049 

(ix) 10 0 
10 
100, 1000, 5000

(x) 11 
0 

11 
14641 

= (4 + 4 ) = 8
= (1 + 6 + 1) = 8

= (8 – 8) = 0
14641, 11 

(i) = × + 

(ii) =

(iii) =

 (Fraction) : x y 

x y 
x
y

x
y

a b 

(i) (Proper fraction): 

3 4 8, ,
5 7 11

(ii) (Improper fraction): 

8 7 5, ,
3 4 2

(iii) (Mixed fraction): 

2 13 , 4
5 2

 (Decimal fraction): 

2 3 5, ,
10 100 1000

 (Recurring fraction): 

(i) = 0.6666 ... = 0.6
(ii) = 0.1888 ... = 0.18

(i) n = 
( 1)

2
n n

(ii) n = n(n + 1)
(iii) n = n2

(iv) 0. x 0.xy 

p
q

0.x = 10
x

 0.xy = 100
xy

(v) 0.x 0.xy

0.x = 9
x

, 0.xy = 99
xy

, 0.x yz = 999
xyz

(vi)

0.xy  = 90
xy x

, 0.x yz  = 990
xyz x

(vii)

1 2 3 4 5
11 11 11 11 11

   

(viii)

11 11 11 11 11
8 7 6 5 4
   
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p
q 0.12 12 12 ......

 x = 0.12 12 12 .... (i)
100x = 12. 12 12 ... (ii)

(ii) (i) 
99x = 12

  x = 
12
99  = 

4
33

114 21 
19 

114 = K 
= 21

  = 114 K + 21
= (19 × 6) K + 19 × 1 + 2
= 19 × (6K + 1) + 2

   = 2
67280 7 

67280 7 = 7000
67280 7 = 7

 = (7000 – 7) = 6993
2 * 435, 9 * 

(2 + * + 4 + 3 + 5) = 14 + *
9 

14 + * = 18  * = 18 – 14 = 4
25

'n' = 
1

2
 

 
 

nn

'25' = 
25 125

2
 

 
 

             = (25 × 13) = 325

1
5 24

= x

x × 
1 2 3
5 3 4
  = 24

 x = (24 × 10) = 240

0.6 + 0.7 + 0.8  

0.6 = 
6
9 , 0.7 = 

7
9 , 0.8  = 

8
9

 0.6 0.7 0.8  = 
6 7 8 21
9 9 9 9

 
   

 
 = 

7
3

8 
54 

= 10 y + x
x + y = 8 ... (i)

10y + x = (10x + y) + 54
 9x – 9y = – 54

 x – y = – 6 ... (ii)
(i) (ii) x = 1 y = 7

  = (10 × 7 + 1) = 71

1. 347_547 11 

(a) 5 (b) 3 (c) 9 (d) 2
[SSC CHSL (Tier-1)  30

 2017 ]
(b) x 

347x 547

(3 + 7 + 5 + 7) – (4 + x + 4) = 11
22 – 8 – x = 11
14 – x = 11
14 – x = 11
14 – 11 = x
x = 3

2. 0.3 5* [– 0.6 (2.8 + 1.2)] 

(a) – 1.44 (b) – 1.08
(c) – 1.2 (d) – 3.6

[SSC CHSL (Tier-1)  30
 2017 ]

(d) 0.3 5* [– 0.6 (2.8 + 1.2)]
 0.3 × 5* [– 0.6 (2.8 + 1.2)]
 0.3 × 5* [– 0.6 × 4.0]
 0.3 × 5 × – 2.4
 1.5 × – 2.4
 – 3.6

3.
13/2 

(a) 6 (b) 7 (c) 8 (d) 9
[SSC CHSL (Tier-1)  29

 2017 ]
(a) = x

 

x + 3 × 
1
x =

13
2

2 3x
x


 =
13
2

2x2 + 6 = 13x
2x2 – 13x + 6 = 0

2x2 – 12x – x + 6 = 0
2x(x – 6) – 1(x – 6) = 0

(x – 6) (2x , 1) = 0

x = 6, 
1
2

6 
4. 200 400 7 

(a) 28 (b) 29 (c) 30 (d) 31
[SSC CHSL (Tier-1)  29

 2017 ]
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(b) 200 400 

203 – 399 7 
 Tn = a + (n – 1)d

399 = 203 + (n – 1) × 7
28 = n – 1

n = 28 + 1
= 29

5. 17 
– 25, 17 – 1
(a) 10 (b) 11 (c) 9 (d) 12

[SSC CHSL (Tier-1)  25
 2017 ]

(c)
a + 2d = 17 ...(i)

a + 16d = 25 ...(ii)
(i) (ii) 

d = –3 a = 23
 –1 = a + (n – 1) d

– 1 = 23 + (n – 1) (–3)
 3(n – 1) = 24

n = 8 + 1 = 9
6. 0.363636.......

(a) 7/11 (b) 4/11
(c) 14/33 (d) 8/33

[SSC CHSL (Tier-1)  24
 2017 ]

(b) x = 0.363636 ...(i)
100x = 36.3636 ...(ii)
(ii) (i) 
99x = 36

x = 
36
99

= 
4

11
7. 9

– 26 – 6

(a) 11 (b) 8 (c) 10 (d) 7
[SSC CHSL (Tier-1)  24

 2017 ]
(b) 

T5 = a + 4d = 9                  ...(i)
T12 = a + 11d = –26          ...(ii)

(i) (ii) 
d = –5 a = 29
 – 6 = a + (n – 1)d

– 6 = 29 + (n – 1) × –5

 n – 1 = 
35
5


n – 1 = 7
n = 7 + 1

= 8
 – 6, 8

8. 315 5/4 7/8
5/9..........

(a) 123 (b) 81 (c) 140 (d) 160
[SSC CHSL (Tier-1)   23

 2017 ]
(d) = x

5
4

x 7
8 = 315

5 7
4 8

x  = 315

35
32

x = 315

x = 
315 32

35


= 288

 288 
5
9 = 5288

9
  = 160

9. 2 
24 45

(a) 83 (b) 64 (c) 46 (d) 38
[SSC CHSL (Tier-1)  22

 2017 ]
(d) = x

= y
 = 10y + x

x × y = 24 ...(i)
10y +  x + 45 = 10x + y

10y –  y + x – 10x + 45  = 0
9y – 9 x  = – 45

x  = 5 + y
x (i) 

(5 + y) × y = 24
5y  + y2  = 24

y2 + 5y – 24 = 0
y2 + (8 – 3) y  – 24 = 0

y2 + 8y – 3y  – 24 = 0
y  (y  + 8) – 3 (y + 8) = 0

(y + 8) (y – 3) = 0
 = 3

=5 + 3 = 8
 = 10 × 3 + 8 = 38

10. 3/4 + 8/9 
(a) 57/27 (b) 11/13
(c) 59/36 (d) 11/9

[SSC CHSL (Tier-1)  18
 2017 ]

(c) 
3
8 + 

8
9

= 
27 32

36


= 
59
36

11. 38 
119% 

(a) 200 (b) 456 (c) 570 (d) 342
[SSC CHSL (Tier-1)  17

 2017 ]
(a)

= x

 x + 38 = 
119
100

x

 100x + 38 × 100 = 119x
 119x – 100x = 3800

 x = 
3800
19  = 200

12. 38 
70 12 

(a) 2648 (b) 2636
(c) 2684 (d) 2672

[SSC CHSL (Tier-1)  17
 2017 ]

(d) = 

38 = 
–12

70
= 38 × 70 + 12

= 2660 + 12
= 2672

13.
25 –52 

12 
(a) –162 (b) –110
(c) –162 (d) 110

[SSC CHSL (Tier-1)  17
 2017 ]

(c) 

= [ ]
2
n a l

= 
12
2

[25 + ( –52)]

= 6 × – 27
= – 162
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14.

52 
(a) 2,7 (b) 3,5 (c) 4,6 (d) 5,6

[SSC CHSL (Tier-1)  16
 2017 ]

(c) x
x + 2 



x2 + (x + 2)2 = 52
x2 + x2 + 4 + 4x =  52

2x2 + 4x = 52 – 4
2x2 + 4x =  48

x2 + 2x = 24
x2 + 2x – 24 = 0

x2 + 6x – 4x – 24 = 0
x (x + 6) – 4 (x + 6) = 0

(x + 6) (x – 4) = 0
x = – 6, 4

 = 4
= 4
= 4 + 2
= 6

15. 0.5 4* (–0.1 (5.5 + 8.5)) = ?
(a) – 2.8 (b) – 1.68
(c) – 1.28 (d) – 0.84

[SSC CHSL (Tier-1)  10
 2017 ]

(a) 0.5 4 (– 0.1 (5.5 + 8.5))
= 0.5 4 (– 0 .1 × 14)
= 0.5 4 × – 1.4
= 0.5 – 5.6
= – 2.8

16.
z 

8 
(a) 80z + z (b) 80 + z
(c) 8z + 8 (d) 80z + 8

[SSC CHSL (Tier-1)  9
 2017 ]

(b) = z
= 8

 = 10 × 8 + z
= 80 + z

17.
1039 
29 

(a) 4 (b) 5 (c) 8 (d) 6
[SSC CHSL (Tier-1)  9

 2017 ]
(b) 29)1039(35

87
169
145
24

 = 29 – 24 = 5
1039 5  29

18. 2401 
14 

(a) 8 (b) 7 (c) 4 (d) 5
[SSC CHSL (Tier-1)  7

 2017 ]
(b) 2401 7 

= 2408
2408 14 

19.
19/2 

(a) 11 (b) 9 (c) 10 (d) 8
[SSC CHSL (Tier-1)  7

 2017 ]
(a) = x

=
1
x

 x =
5 19

2x


x =
10 19

2
x

x


2x2 = 10 + 19x
2x2 – 19x – 10 = 0

2x2 – 20x + x – 10 = 0
2x(x – 10) + 1 (x – 10) = 0

(x – 10) (2x + 1) = 0
x – 10 = 0
2x + 1 = 0

x = 10

x = – 
1
2

  = 10
20. (91 + 92 + 93 + ............+ 140)

(a) 5775 (b) 11550
(c) 17325 (d) 23100

[SSC CHSL (Tier-1)  7
 2017 ]

(a) 91 + 92 + 93 + .............+ 140

= 
140 (140 1) 90 (90 1)–

2 2
 

=
140 141 90 91–

2 2
 

= 70 × 141 – 45 × 91
= 9870 –4095 = 5775

21. 13/6
6/13 

(a) 369.44 (b) 39.35 
(c) 184.72 (d) 78.7 

[SSC CHSL (Tier-1)  7
 2017 ]

(d) % =

13 6–
6 13 100%13

6



 % = 

133
78 100%13
6



= 
133 6 100%

78 13
 



= 
79800
1014  = 78.698 % = 78.7 %

22.
17 9 

(a) 89 (b) 98
(c) 78 (d) 87

[SSC CHSL (Tier-1)  7
 2017 ]

(a) = x
= y

 = 10y + x
x + y = 17

(i)

10y  + x + = 10x + y
x – y = 1

(ii)
(i) (ii)

x = 9, y = 8
 = 10 × 8 + 9 = 89

23. 3 
4/5

2 
1/2
(a) 15/16 (b) 14/16
(c) 11/16 (d) 9/16

[SSC CHSL (Tier-1)  20
 2018 ]

 (c) x y

+ 3 4
+ 3 5

x
y


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5x + 3 × 5 = 4y + 3 × 4
5x – 4y = 12 – 15
5x – 4y = – 3 ..... (i)

2 1
2 2

x
y





2x – 4 =  y – 2
2x – y = – 2 + 4
2x – y = 2 ..... (ii)

(i)  (ii) 

11
3

x   
16
3

y 

 = 
11 113
16 16

3

x
y
 

24. (14.998)3 
(a) 3573 (b) 4096
(c) 3378 (d) 3374

[SSC CHSL (Tier-1)  20
 2018 ]

 (d) (14.998)3 = (15 – 0.002)3

= (15)3 – 3 × 15 × 0.002
(15 – 0.002) – (0.002)3

= 3375 – 1.34982 – 0.000000008
= 33.75 – 1.349820008
= 3373.65018
= 3374.

25.
( 5 + 2)

( 5 2)
 

(a) 5 4 (b) 5 2

(c) 5 2 (d) 7

[SSC CHSL (Tier-1)  20
 2018 ]

 (b) 

 

   

 

2

2 2

2

5 2
5 2

5 2 5 2
5 2 5 2

5 2

5 2

5 2 5 2






 
 

 






   

26. 7/3 9/15 
3/5 7/12 7

(a) 6.36 (b) 6.67
(c) 5.67 (d) 5.36

[SSC CHSL (Tier-1)  20
 2018 ]

  (*)  x

7 9 3 7 7
3 15 5 12

x x     


21 7 7
15 70

x x 


84 21 7

60
x x 


63 7
60

x 


7 60 60 20

63 9 3
x   

  = 
20 402
3 3

 

                            = 13.3
27.

74/35

(a)
9 7,
7 5 (b)

5 7,
7 5

(c)
4 7,
7 4 (d)

6 7,
7 6

[SSC CHSL (Tier-1)  20
 2018 ]

 (b)  
5
7

 
7
5


5 7 74
7 5 35
 

25 49 74
35 35




74 74
35 35



28.
557 × 653 × 672

9

(a) 0 (b) 3
(c) 5 (d) 6

[SSC CHSL (Tier-1)  21
 2018 ]

 (d) 

= 
557 653 672

9
 

=
7 3 2

9
 

=
4 2
9

=
6

4
9

6

29. x

1 ( / 529) = (16 / 23)x
(a) 283 (b) 276
(c) 273 (d) 374

[SSC CHSL (Tier-1)  21
 2018 ]

 (c) 
161

529 23
x

 


16 161

529 23 23
x  

  
 

 2561
529 529

x 
  

 

 2561
529 529

x
 


273

529 529
x



 x = 273
30. 58 

3/4 
14 

(a) 24 (b) 6
(c) 16 (d) 18

[SSC CHSL (Tier-1)  23
 2018 ]

 (c) a, b c 

3

4
a c c = b – 14

   b = c + 14

3
a b c 

= 58


3

14
4

c c c   = 58


3

2 14 58
4

c c  


3

2
4

c c  = 44

 11c = 176
 c = 16

3

4
a c  = 

3
16 12

4
 
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b = (c + 14) = (16 + 14) = 30

   = (a ~ b)
= (30 – 12) = 16

31. 7 × 8 × 9 × 10

(a) 144 (b) 1
(c) 289 (d) 3

[SSC CHSL (Tier-1)  23
 2018 ]

 (b) 
= 7 × 8 × 9 × 10
= 5040

1 

5040 + 1 = 5041
= (71)2

32. 0.77777 + 0.7777 + 0.777 + 0.77 +0.7 +
0.07 
(a) 3.86274
(b) 3.80247

(c) 3.85274
(d) 3.87247

[SSC CHSL (Tier-1)  8
 2018 ]

 (d) 0.77777
0.77770
0.77700
0.77000
0.70000
0.07000
3.87247

33. 27 

(a) 3 (b) 6
(c) 9 (d) 27

[SSC CHSL (Tier-1)  8
 2018 ]

 (c) 

= 
27
3

= 9

0.001 = 0.1 × 0.1 × 0.1

 3 0.001  = 3 0.1 0.1 0.1   = 0.1
34.

I. 4 3 3 4

II. 8 2 2 8

(a) I
(b) II
(c) I II
(d) I II 

[SSC CHSL (Tier-1)  8
 2018 ]

 (d) I. 4 3  = 4 × 1.732 = 6.928

3 4  = 3 × 2 = 6

 4 3  > 3 4

II. 2 8  = 2 × 2 2  = 4 2

 8 2  > 2 8
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 (Common factor) :

20, 40, 60 2, 4, 5 10 
 (Highest common factor) :

10, 20 30 = 10

(i) (Factor method)

8, 12 16 
8 = 2 × 2 × 2

12 = 2 × 2 × 3
16 = 2 × 2 × 2

= (2 × 2) = 4
(ii) (Division method) 

16, 20 64 

4 

20
16
4 16

16

) (116

()

×

16 20 = 4

4 64 16
4 
24 
24 
× 

16, 20 64 = 4

2
 (Common multiple) 

3, 5, 6 30,
60, 90, 120 

 (Least common multiple) 

10, 12 15 = 60

(i) (Factor method)

10, 15 20 
10 = 2 × 5
15 = 3 × 5
20 = 2 × 2 × 5

 10, 15 20 = (3 × 2 × 2 × 5) = 120
(ii) (Division method)

4, 6, 8 10 

2 4 6 8 10
2 2 3 4 5

1 3 2 5

 = (2 × 2 × 3 × 3 × 2 × 5) = 360

 = 

 =



= × 

 = 
×
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 = 
×

 = 
×

40, 36 144 

2 40 36 144
2 20 18 72
2 10 9 36
3 5 9 18
3 5 3 6

5 1 2

 = (2 × 2 × 2 × 3 × 3 × 5 × 2) = 720
18, 24 72 

24
18

6 18
18

) (118

()

×

3

72
6

) (126

×

12
12

18, 24 72 = 6
3 : 4 4 

3x 4x 
× = 

 × 4 = 3x × 4x,
 = 3x2

3x 4x = x
x = 4,

 = 3 × (4)2 = 48
1650 110

× =  
110 ×  = 1650,

 = 
1650
110  = 15

18 22 30 

=  18 22 30 
= (2 × 3 × 3 × 11 × 5) = 990 = 16 30 

xy x2y2 

xy2 

= 
×

 = 
2 2

2

xy x y
xy


 = x2y

1. 63 77 
7 

(a) 668 (b) 693

(c) 674 (d) 680

[SSC CHSL (Tier-1)  25
 2017 ]

(b) × = 

7 × = 63 × 77

=
63 77

7


 = 693

2. 77 275 

(a) 12 (b) (c) 7 (d) 25
[SSC CHSL (Tier-1)  24

 2017 ]
(b) 77 = 7 × 11

275 = 5 × 5 × 11
 = 11

3. 55 99 
11 

(a) 486 (b) 479
(c) 476 (d) 495

[SSC CHSL (Tier-1)  21
 2017 ]

(d) 
= × 

       55 × 99 = × 

= 
55 99

11


 = 495

4. 15 
35 
(a) 9970 (b) 9965
(c) 9975 (d) 9980

[SSC CHSL (Tier-1)  10
 2017 ]

(c) 15 35 = 105
= 9999

= 
9999
105

= 105 × 95 + 24

15 35 = 9999 – 24

               = 9975

5.
11 825

275 

(a) 53 (b) 45 (c) 33 (d) 43

[SSC CHSL (Tier-1)  3
 2017 ]

(c) 
× =  × 

825 × 11 = 275 × 



= 
825 11

275


 = 33
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 = 

: ̀  160,
` 220, ` 340, ` 260, ` 280, ` 160 ` 210 

           = 
160 220 340 260 280 160 210

7
     

           = 
1630

7  = ` 232.85

(i) 'n' = 
1

2
n  

 
 

(ii) 'n' = (n + 1)
(iii) 'n' = n

(iv) 'n' = 
( 1)(2 1)

6
n n 

(v) 'n' = 
2( 1)

2
nn  

 
 

(vi) 1 'n'

= 
+ 1

2

 

(vii) 1 'n'

= 
+ 1

2

 

(viii) x 'n' = 
( 1)

2
n x



(i) a 
b

= 
2ab
a b

 
 

 
 

(ii) a
b c 

= 
3abc

ab bc ca
 
   

(iii) m a n b

(i) m > n

= 
ma nb
m n
 

  

(ii) n > m

= 
nb ma
n m
 

  

(iv) N T
t

(i) 
= (T + Nt)

(ii) 
= (T – Nt)

40 20 
12 22 18 17 

40 = (40 × 50) = 800 
12 = (12 × 22) = 264 
18 = (18 × 17) = 306 

 10 

= 
800 (264 306)

10
 

  = 
800 570 230

10 10


  = 23 

5 40 
35 25

3
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5 = (5 × 40) = 200 
35 25 

= (35 – 25) = 10 

 = 
200 10

5
 

 
 

 = 
190

5 = 38 

4 20 
21 

4  = (4 × 20) = 80 

5  = (5 × 21) = 105 
  = (105 – 80) = 25 

88, 86 90 

91 
= x

91 = 
88 86 90

4
x  

 264 + x = 364
 x = 100

9 36 36 

9 
= (9 × 16) = 144

9 + 1 
= (144 + 36) = 180 

 10 =
180
10  

 = 18 
 = (18 – 16) 
                                    = 2 

15 
3 : 5 : 7 

3x 5x 7x 

3 5 7
3

x x x 
= 15

 15x = 45  x = 3
  = (7 × 3) 

= 21 

1. 9 
 ` 65 

5 ` 60 
5 ` 72 

(a) ` 77 (b) ` 75 
(c) ` 73 (d) ` 71 

[SSC CHSL (Tier-1)  30
 2017 ]

(b) 9 
= 65 × 9 = ` 585 

5 
= 60 × 5 = ` 300 

5 
= 72 × 5 = ` 360 
10 
= 300 + 360  = ̀  660 

= 660 – 585 = ` 75 
2. 56 21 

56 
62.875

(a) 69.75 (b) 72.5 
(c) 67 (d) 65 

[SSC CHSL (Tier-1)   29
 2017 ]

(c) 

21
56

x
= 62.875

x = 167.6 


35
56

x
= 62.875

x = 100.6 
 

= 167.6 – 100.6
= 67.0 

3. 8 
3 A, 2 B 

C 
` 100000, ` 80000 ` 45000 

(a) 74375 (b) 75000
(c) 75625 (d) 72875

[SSC CHSL (Tier-1)  25
 2017 ]

(a) 3 A 
= 3 × 100000 =` 300000
2 B 

= 2 × 80000 =̀  160000
3, C 

= 3 × 45000 = 135000

= `595000


=
595000

8
= ` 74375

4. 11 
` 77 

6 ` 72 
6 ` 84 

(a) ` 91 (b) ` 87 
(c) ` 85 (d) ` 89 

[SSC CHSL (Tier-1)  24
 2017 ]
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(d) 11 = 11 × 77
= ` 847 

6 = 6 × 72
= ` 432 

6 = 6 × 84
= ` 504 

 
= 432 + 504 – 847
= 936 – 847 = ` 89 

5. 3 112 
2 

3/13 
(a) 63 (b) 95
(c) 42 (d) 126

[SSC CHSL (Tier-1)  24
 2017 ]

(a) x1, x2 x3 
 

1 2 3

3
x x x 

= 112
x1 + x2 + x3 = 336

x1 = 2 3
3 ( )

13
x x

113
3
x

= x2 + x3

1
1

13
3
xx  = 336

116
3
x

 = 336

x1 = 
336 3

16


 = 63

6. 56 60 29
92 

(a) 58.875 (b) 61.125 
(c) 63.375 (d) 56.625 

[SSC CHSL (Tier-1)  23
 2017 ]

(a) 56 = 60
= 92 – 29 = 63

 =  
63
56

= 1.125
= 60 – 1.125
= 58.875 

7. 39 36 
38 

40 

(a) 42 (b) 64
(c) 20 (d) 62

[SSC CHSL (Tier-1)  22
 2017 ]

(b) 
= 39 × 40 = 1560 
36 
= 36 × 38 = 1368 

3  = 1560 – 1368
   = 192 

 3 = 
192

3  = 64 

8. A 50 
61

B 25 
57 C 50 

55 

(a) 57.1 (b) 56.4
(c) 59.2 (d) 57.8

[SSC CHSL (Tier-1)  21
 2017 ]

(d) 10

= 
50 61 25 57 50 55

50 25 50
    

 

= 
3050 1425 250

125
 

 = 
7225
125  = 57.8

9. 3 77 
2 

3/4 
(a) 148 (b) 66
(c) 99 (d) 198

[SSC CHSL (Tier-1)  21
 2017 ]

(c) x1, x2, x3 
 

1 2 3

3
x x x 

= 77
x1 + x2 + x3 = 77 × 3 = 231

 x1 + x2 + x3= 231 ... (i)

x1 = (x2 + x3) × 
3
4

x1 (i) 

(x2 + x3) × 
3
4  + x2 + x3 = 231

(x2 + x3) 
3 1
4
 

 
 

= 231

(x2 + x3) × 
7
4 = 231

x2 + x3 = 
231 4

7


  x2 + x3 = 132

 (x1) = (x2 + x3) × 
3
4

= 132 × 
3
4  = 99

10. 19 50

(a) 68 (b) 70
(c) 126 (d) 100

[SSC CHSL (Tier-1)  17
 2017 ]

(b) = 4
= 19 × 2 + 30
= 38 + 30 = 68

19 = 19 (19 + 1)
= 19 × 20 = 380

= 19 × 50 = 950

 = 19 × 2 + 
950 – 380

19

= 38 + 
570
19 = 38 + 30 = 68

11. 10 
2 A, 3 B 

C 
` 95000  ` 60000 ` 50000 

(a) 62000 (b) 68333
(c) 74666 (d) 60500

[SSC CHSL (Tier-1)  16
 2017 ]

(a)
12.

97 
93 

82 

(a) 72 (b) 56
(c) 59 (d) 63

[SSC CHSL (Tier-1)  10
 2017 ]

(c) 
= 97 × 3 = 291 

= 93 × 2 = 186 

= 82 × 2 = 164 
 = (186 + 164) – 291
= 350 – 291 = 59 
13. x y 

6 48 
x y 
(a) 3 6 (b) 6 12
(c) 6 6 (d) 3 12

[SSC CHSL (Tier-1)  10
 2017 ]

(d) = 6 × 2
= 12

= 48
 x : 12 : : 12 : 48

 x = 
12 12

48


 = 3

y = 3 × 2 × 2 = 12
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14. A 55 

55
B 45 

51 C 40 
49 

(a) 51.3 (b) 50.6
(c) 52 (d) 53.4

[SSC CHSL (Tier-1)  10
 2017 ]

(c) 55 
= 55 × 55 = 3025

45 
= 45 × 51= 2295

40 
= 40 × 49 = 1960

= 3025 + 2295 + 1960 = 7280
 10

= 

= 
3025 2295 1960

55 45 40
 

 

= 
7280
140  = 52

15. 5 76 
4 

3/7 
(a) 171 (b) 114
(c) 76 (d) 228

[SSC CHSL (Tier-1)  9
 2017 ]

(b) x1, x2, x3, x4,
x5 

 

1 2 3 4 5

5
x x x x x   

 = 76 ...(i)
x1 = (x2 + x3 + x4 + x5)

 x2 + x3 + x4 x5 = x1            ...(ii)
(i) (ii) 

1 1
7
3

5

x x
= 76

110
3
x

= 76 × 5

x1 =
76 5 3

10
 

= 114
= 114

16. A 30 
67

B 55 
63 C 40 

61 

(a) 63.32 (b) 62.62
(c) 61.92 (d) 64.72

[SSC CHSL (Tier-1)  9
 2017 ]

(a) A 30 
= 30 × 67 = 2010

B 55 
= 55 × 63 = 3465

C 40 
= 40 × 61 = 2440
 
= 2010 + 3465 + 2440 = 7915
10 

=

=
2010 3465 2440

30 55 40
 



=
7915
125  = 63.32

17. 3 64 
2 

1/3 
(a) 72 (b) 32
(c) 96 (d) 48

[SSC CHSL (Tier-1)  8
 2017 ]

(d) 3 = 3 × 64 = 192
= x
= y

 = 3
x y



3
3

x y x y  
= 64

4 ( )
9

x y
= 64

4 (x + y) = 64 × 9

x + y = 
64 9

4


 (x + y) = 144

 = 
144

3 = 48

18. 13 
` 82 

7 ` 77 
7 ` 89 

7
(a) ` 98 (b) ` 94 
(c) ` 96 (d) ` 92 

[SSC CHSL (Tier-1)  7
 2017 ]

(c) 13 
= 13 × 82
= ` 1066 

7 
= 7 × 77
= ` 539 

7 
= 7 × 89
= ` 623 

 7
= (539 + 623) – 1066
= 1162 – 1066
= ` 96 

19. 9 
` 80 

5 ` 75 
`

(a) ` 90 (b) ` 92 
(c) ` 88 (d) ` 86 

[SSC CHSL (Tier-1)  7
 2017 ]

(a) 9 
= 9 × 80 = ` 720 

5 
= 5 × 75 = ` 375 

5 
= 5 × 87= ` 435 

= 375 + 435 = ` 810 
 5 = 810 – 720 = ` 90 
20. 65 39 

60 
64

(a) 69 (b) 66
(c) 68 (d) 70

[SSC CHSL (Tier-1)  3
 2017 ]

(d) 
= 65 × 64
= 4160 

39 
= 39 × 60
= 2340 

 = 4160 – 2340
                          = 1820 

 26 = 
1820

26
= 70 
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21.  
5 + 1

X =
5 1

  
5 1

Y =
5 + 1


 

X – Y

(a) 3 (b) 3

(c) 2 3 (d) 6

[SSC CHSL (Tier-1)  20
 2018 ]

 (b)  X = 
5 1

5 1




 

5 1
Y

5 1






   X – Y

= 
5 1 5 1

5 1 5 1

 


 

= 
2 2( 5 1) ( 5 1)

( 5 1) ( 5 1)
  
 

= 2 2
5 1 2 5 5 1 2 5

( 5) (1)
    



= 
2 5 2

5 1




= 

4 5

4
= 5

22.

(i) 676 6.76

+ 0.0676 27.76

(ii) 339 36 49 81   = 19

(a) I
(b)  II
(c) I II
(d) I  II

[SSC CHSL (Tier-1)  21
 2018 ]

 (b) (i) 

676 6.76 0.0676 27.76  





  

 (ii) 

339 36 49 81 19   

 339 6 7 9  

 339 16 6 

 349
  

23. 39 

(a) 39 (b) 40
(c) 20 (d) 68
[SSC CHSL (Tier-1) 

8  2018 ]

 (b) n 

= n + 1

 = (39 + 1) = 40
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100
100 

(Rate percent) 

(i) x % = 100
x

(ii) 4 % = 
4 2 1

100 50 25
 


a
b

a
b  = 100 %a

b
 

 
 

 a % 

a % = 
1

100 100
aa 

  
 

 a b % = 100 100
b aba 

  
 

(1) P 
R % 

(i) n = 1
100

nRP  
 

 

(ii) n = 1
100

nRP


 
 

 

(2) P 
P1 %, P2 % P3 % 3 

= 31 21 1 1
100 100 100

PP PP    
     

   

(3) P P1%
P2% P3% 

3 

= 
31 21 1 1

100 100 100
PP PP    

     
   

(4)(i) P Q a % Q P 

= 
100 %

(100 )
a
a

(ii) P Q a % Q P 

= 
100 %

(100 )
a
a

(5)(i) a % 

= 100 %
(100 )

a
a

 
 

 

(ii) a% 

= 100 %
(100 )

a
a

 
 

 

(6) a % 
a % 

= 
2

%
10
a 

 
 

(7)(i) a % 
b %

= %
100
aba b 

  
 

(ii) a %
b %

= %
100
aba b 

   
 

 (+) 
(–) 

(6) a % b 
c 

=
100( )b c

a
 

 
 

4
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(7) x % a
y %

b 

=
100( )a b

y x
 
 

 

20%, 200 
= x

20
100

x  = 200

 x = 
200 100

20


 = 1000

10000 
10% 2 

2 

= 
21010000 1

100
 
 

 
 = 

21110000
10
 

 
 

= 
12110000
100

 
 

 
 = 12100

1. 26 
113% 

(a) 200 (b) 312
(c) 390 (d) 234

[SSC CHSL (Tier-1)  30
 2017 ]

(a) x 

x + 26 = 
113
100

x

113
100

x – x = 26

113 – 100
100
x x

 = 26

13x = 26 × 100
x = 200

2. 13/11 
11/13 

(a) 39.67 
(b) 28.4 
(c) 14.2 
(d) 19.83 

[SSC CHSL (Tier-1)  30
 2017 ]

(b) 

=

13 11–
11 13 10013

11



=

48
143 10013
11



=
528 100

1859


= 28.40%
3.

10 

75% 

(a) 52 42 (b) 68 58
(c) 63 53 (d) 15 5

[SSC CHSL (Tier-1)  25
 2017 ]

(d) 
= x + 10

= x
 

75( 10 )
100

x x   = x +10

752 10
100

 x = x + 10

x = 5
x + 10 = 15
15, 5 

4. ` 500 
` 200

1 
20 

8 

(a) 53.43 
(b) 13.79 
(c) 32.2 
(d) 35.06 

[SSC CHSL (Tier-1)  25
 2017 ]

40% 40

= x

40
100

x  = (40 + 40)

 x = 
80 100

40
 

 
 

 = 200

4 : 5 20%
20% 

20% 

= 
120 244
100 5

x x 
  

 

20% 

= 
805

100
x 
 

 
 = 4x

 =
24 : 4
5

x x

                            = 24x : 20x = 6 : 5
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(b) 20 

= 20 × 500
= `10000

8 
= 8 × 200
= `1600

= 10000 + 1600
= `11600

 1

  = 
1600 100

11600


= 13.79%

5.
22 

55%

(a) 121 99 (b) 43 21
(c) 58 36 (d) 86 64

[SSC CHSL (Tier-1)  24
 2017 ]

(a) x y 
 

x = y + 22 ...(i)

x = 
55( + )×

100
x y

x = 
11( + )×
20

x y

2x = 11x + 11y
20x – 11x = 11y

9x = 11y

 y = 
9

11
x

y (i) 

x = 
9 22

11
x 

9–
11

xx = 22

2
11

x
= 22

x = 
11× 22

2
= 121

y = 
9 121

11
 = 99

 121 99 

6. 59% 

(a) 72.57 (b) 83.19 
(c) 89.09 (d) 69.49 

[SSC CHSL (Tier-1)  24
 2017 ]

(d) = (100 – 59) = 41%

= 
41 100
59

  = 69.49%

7.
40% 50% 

(a) 16.67 (b) 20 
(c) 10 (d) 25 

[SSC CHSL (Tier-1)  22
 2017 ]

(b) = x

 = x – x  × 
40

100 = 
3
5
x

= x – 
50

100
x  = 2

x

 = ` 
3 –
5 2
x x 

   = 10
x

= 10

2

x

x
× 100% = 20%

8. 21% 

(a) 21 
(b) 26.58 
(c) 17.36 
(d) 26.25 

[SSC CHSL (Tier-1)  21
 2017 ]

(b) = `
21% = (` 100 – 21)
= 79%

 = 
100 100

79


               = 126.58%

= (126.58 – 100)
= 26.58 %

9. 27  3.6% 
(a) 750 (b) 75
(c) 1500 (d) 1875

[SSC CHSL (Tier-1)  18
 2017 ]

(a) = x

x × 
3.6
100  = 27

x = 
27 100

3.6


 = 750

10.

(a) 16.13 (b) 36.46
(c) 43.26 (d) 27.78

[SSC CHSL (Tier-1)  17
 2017 ]

(d)
= 25 + 65 = 90

= 25
 

= 
25 100
90

 
  

= 27.777%
= 27.78%

11.
30% 37% 

(a) 10 (b) 7 
(c) 11.11 (d) 18.92 

[SSC CHSL (Tier-1)  16
 2017 ]

(c) = x
 

= 
70
100

x

= 
63
100

x

 
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= 

70
100
63
100

x

x

= 111.11%
 = 100%

= 111.11 – 100
= 11.11%

12. 26 0.4% 
(a) 6500 (b) 650
(c) 13000 (d) 16250

[SSC CHSL (Tier-1)  10
 2017 ]

(a) = x
x 0.4% = 26

 x × 
0.4
100 = 26

 x = 
26 100

0.4


= 6500
13. 8/5 

5/8 

(a) 60.94 (b) 156 
(c) 30.47 (d) 78 

[SSC CHSL (Tier-1)  10
 2017 ]

(a) 

= 

8 5–
5 8 1008

5



= 

39
40 1008
5



= 
39×5×100

8 40
= 60.937
= 60.94%

14.
20 

55%

(a) 92 72 (b) 83 63
(c) 110 90 (d) 64 44

[SSC CHSL (Tier-1)  9
 2017 ]

(c) = x
= x – 20

 

(x + x – 20) ×
55

100  = x

(2x – 20) × 55 = 100 x
110x – 1100 = 100 x

10x = 1100
x = 110

 = 110
= 110 – 20
= 90

15.
13 

76% 

(a) 19 6 (b) 34 21
(c) 102 89 (d) 92 79

[SSC CHSL (Tier-1)  9
 2017 ]

(a)  = x
= x – 13

 

(x + x – 13) ×
76

100 = x

(2x – 13) × =
76

100 x

152x – 988 = 100x
152x – 100x = 988

52x = 988

x =
988
52

= 19
 = 19

= 19 – 13 = 6
16.

24% 
61 29

(a) 375 (b) 400 
(c) 425 (d) 450 

[SSC CHSL (Tier-1)  9
 2017 ]

(a) = 61 + 29 = 90
= x

x 24% = 90

x × 
24

100 = 90

x = 
90 100

24


= 375

17.
36% 

53 37 

(a) 275 (b) 250 
(c) 300 (d) 325 

[SSC CHSL (Tier-1)  7
 2017 ]

(b) 
= x


36

100
x  = 53 + 37

36
100

x   = 90

x =
90 100

36


= 250

250 
18. 5 

14

30

6

(a) 67 (b) 68
(c) 56 (d) 74

[SSC CHSL (Tier-1)  20
 2018 ]

 (a)
= x 

= (x + 6)

5  = (14 × 5) = 70 
5  + 

= (5 + 2) × 30
= (7 + 30) × 210 

x + (x + 6) + 70
= 210

 2x + 76 = 210
 2x = 134

x =  67 
= 67 
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19. 46, x, 30, 36, 59, 82, 68  94 

56.5 x 
(a) 40 (b) 37
(c) 29 (d) 23

[SSC CHSL (Tier-1)  20
 2018 ]

 (b)

=

56.5 = 
46 30 36 59 82 68 94

8

x      

 452 = 415 + x
   x = (452 – 415) = 37
20. A, B C 148 

A B 136 
B C 125 

B 

(a) 56 (b) 78
(c) 112 (d) 130

[SSC CHSL (Tier-1)  21
 2018 ]

 (b) 

A, B C
= 148 × 3 = 444 ..... (i)
A B
= 136 × 2 = 272 ..... (ii)
B C
= 125 × 2 = 250 ..... (iii)

(i)  (ii)
272 + C = 444
C = 172 cm

(iii)
B + 172 = 250
B = (250 – 172) = 78

21. P Q 50% 
Q R 50% 

P R 

(a) 225 (b) 150
(c) 125 (d) 100

[SSC CHSL (Tier-1)  23
 2018 ]

 (c) R = ` 100
 Q =  ` (100 + 50) = ` 150

 P = 150 + 150 × 
50

100
=  ` (150 + 75)
=  ` 225

 = (225 – 100)
=  ` 125

 P R 125% 
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 (Cost Price) 

 (Selling Price) 

 (Profit) 

= –  
 (Loss) 

=  – 

(i) = × 100 %
  

 
 

(ii) = × 100 %
 
 
 

(iii) = 
100 + %

× 
100

(iv) = 
100 – %

× 
100

(v) = 
100

× 
100 + %

(vi) = 
100

× 
100 – %

 (Market price) 

 (Discount) 

(i) = –

(ii) = 
– 

× 100

5

(iii) = 
1 – %

100
 
 
 

(i) a % b % 

= %
100
aba b 

  
 

(ii) ` a
` b

= ` 2
a b 

 
 

(iii) a b 

% = 100%
( )

b
a b




(iv) a b 

% = 100%
( )

b
a b




(v) a b 

= 
( ) 100%a b

b


 

(+) 

(vi) a % 
a % 

 = 
2

%
100
a 

 
 

(vii) ` a b ` b a 

= 
2 2

2 100%b a
a

 
 

 

b > a 
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` 72 10% 5%

=
100 72

(100 10)




   = 
100 72
90

 = ` 80

5%  

= 
(100 5) 80

100


  = 
105 80
100
 

 
 

= ` = 84

20% 10% 

= %
100
aba b 

  
 

  = 
20 1020 10 %

100
 

  
 

= 28%

` 10 11 ` 11 10 

% = 
2 2

2 100%b a
a

 
 

 

= 
2 2

2

(11) (10) 100%
(10)


  = 
(121 100) 100%

100


  = 21%

1. ` 57 
` 67 

7 

(a) ` 58.25 (b) ` 65.75 
(c) ` 75.14 (d) ` 50.75 

[SSC CHSL (Tier-1)  30
 2017 ]

(a) = ` x
= x – 57 = x – 57
= 67 – x = 7(x – 57)

67 = 7x – 399 = x
7x + x = 399 + 67

8x = 466
x = ` 58.25

= `58.25
2. ` 900 3 

2 

(a) 40 (b) 33.33 
(c) 30 (d) 20 

[SSC CHSL (Tier-1)  30
 2017 ]

(a) 3 = ` 900 × 3
= ` 2700

5 = ` 900 × 5 =  ` 4500
= ` (4500 – 2700) = 1800
= ` 1800

= 
1800 100

4500


 = 
200
5 = 40%

3.
36% 

25%

` 2499 

(a) ` 2548 (b) ` 2450
(c) ` 3123 (d) ` 2352

[SSC CHSL (Tier-1)  30
 2017 ]

(b) = ` x
 

136 75
100 100

x   = 2499

x =
2499 100 100

136 .75
 



= ` 2450
4. ` 800 

` 630 
10% 

(a) 12.5% (b) 16% 
(c) 11.5% (d) 18% 

[SSC CHSL (Tier-1)  30
 2017 ]

10% 
20% 

` 800 

  = 
90800

100
 

 
 

= ` 720

 = 
100 720
120
 

 
 

  = ` 600

` 450
10%

20% 

= ` x

90
100

x = 
120450
100



 90x = 450 × 120
 x = ` 600

` 1200
` 800

=  ` 2
a b 

 
 

= `
1200 800

2
 

    =  `
2000

2
 
   = ` 1000
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